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1. ladj (adjA)| = |AP°,
<yet] A-a1 auflewawiregy
(1)3 (2)4 (3)2
Sol: |adj(adjA)| = |A| D’
ladj (adjA)| = |AJ°
(n—1)2=9 = 32
n-1=3=n=4  (Option:2)
2. Aeraip 3 X3  auflews Gamewri
LFAwwpns Careaneu oyewfls @
AAT = ATA wpmns B = A71AT
sremeurmy @ sLi9esr BBT =
(DA (2)B (3)z  (4)B"
Sol: BBT = (A71AT)(A7tAT)T
= (A7) (AT (A
= (AT1AD(AA™HN
= (AT AATAN ) =1
(Option:3)
| B=adiA wspus

ladj B _
IC|

e1esflad FGIT

(4)5

3 5
1 2

676860
1
2

3.A=[
C=3A
(1% (3);

SoI:A=[§ g],|A|=6—5=1
C=3A=|C|=1|34]=3%4|=9%x1=09

2
ladj Bl _ ladj (adja)| _ 14@™D 1
[C] |C| 9 9

(4)1

DT B I
(1)[14 42] (2)4—1_11]
o' % el 5

SoI:AH 2] [ 6[3 01— 61
A=6I[1 ] _61(412)[ 1 1
A= [_41 ﬂ (Option:3)
5 A= [Z 3] s1asflad 9L, — A =

AT @2 (3)3at (4)24
sotor, =4 =0 o] =[5 3I[% 7]

1 _ _
A7 = (14 — 12) [—24 73] =2 [—24 3]

A 1 -3
-2, 7
912 —A= A— (Option:2)
6.4 = [1 5] wpmib B = B g] G
ladjAB| =
(1)-40 (2)-80 (3)-60 (4)-20
Sol:|adjAB| = |adjB| |adjA|
=10 x (—8) = —80 (Option:2)
1 x O
7. P=|1 3 0 etarig 3 X 3
2 4 -2

aiflevsyent_w el A-ar  Gagliy e
wpnid |Al =4 aefled X e

(1)15 (2)12 (3)14 (4)11
Sol: ladjA| = |A|" 1
1 x 0
1 3 0]=46"D
2 4 =2
—2(3-x)=16
—6+2x =16
x=11 (Option:4)

3 1 -1
8A=|[2 -2 0 LOBWILD

1 2 -1

a1 A1z Qg3
Al = [am azz azs] 616060 A3 —60r

dz1 4z d4szs
G ILIT6IH]
(10 (2)-2 (3)-3 (4)-1
Sol: |A| =2

(co factor of 2) _E _01| _ 2 _ 1
23 = A 2 2

( Option:4)

9.A B wpnid C eraruer Gpiommy
SIS SSHHUTN TCS@IG T eufleoFuiled
@pLer eTapaaTeuppled 615/

2 TELOWIGE?

(1) adjA= |A|A71

(2)  adj (4B) = (adjA)(adjB)

(3) detA™! = (detd)™?

(4) (ABC)'=cC"lB 1471
(Option:2)

10. (AB) 1 = _1129 17] LOMBMILD

ar =1 Tl erahes B =
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o 53 @ [

o B @ [4 7
Sol:
(AB) “1=p-1471
e, il
12 —17 [ —1]
ST
B-2)l2
_ 36 — 34- 12 —-17
5 1=[—57+542—12§r27]
- [_3 8 ]

(Option:1)
1M1.ATA™Y ez 510887 eraflad  A? =
(1) A (2) (4")?

3) AT 4) @ahH?

Sol: ATA 1 = (ATA™HT = (A HTaDT

ATA—l — (A—I)TA

ATA—l — (AT)—IA = (AT)Z — AZ

(Option:2)

12 A aiaiug 4d@wwpps Gsmeneu ojewl]

wppis A= [_52 _31] srasflen  (AT)™1
-5 3 5 3

(1) 21 1]3 2) [EZ 2—1]

@ [3 51 @ [3Z

Sol: (A") ™' = A H' = [_52 _31]T

_[5> -2 o
=53 N (Option:4)
3 4
13.4=|° g womd AT = A1 eresled
X3
X &1 @iy
Sol: AT = A71 = AAT =
3 47113
5 sl{s *| 1 o
3114 3 0 1
* 5ll5 5
3 L4 3,
575 %57

53x)+12=0
= x = —% (Option:1)

14.4 =

—tang
etafley B =

29
(1) (cos > )A
(3)  (cos?O)I
Sol:AB=1,=B

[ cos@
15. A—[_Sine

A(adjA) = [’5 2]
(1) O
(3) cosH

0
1 tan—

(2)
(4)

= A_l

sin 0]
cos @
6T6sT) 60

(2)
(4)

Sol: A(adjA) = (adjA)A =
ooy
AadjA) = k [o 1] = kI

k=1

|Al1

(Option:2)
LW mILD
k =
sin @

1
|Al1

=11
(Option:1)

16.4=[2 )| wops 471 =4

erafled A &1 @iy
(1) 17
3) 19

(2)
(4)

SOI M1=A= 21 = A2

0 A7l s Sl 5

A=19

14
21

(Option:3)

17. adjA = [i _31] s adj B =

[_13 _12] aiasflev adj (AB) <yewsi

(1) [‘7: I}]
ORI

(2)
(4)

5 ol

-

Sol: adj (AB) = adj (B)adj (A)

=15 Tl SHET S5

adj (AB) = [_S

—10]

(Option:2)
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1 2 3 4
18. [ 2 4 6 8] @ 96wl BILD
-1 -2 -3 —4
(1)1 (2)2 (3)4 (4)3
1 2 3 4
Sol: = [ 2 4 6 8]
1 —2 -3 —4
1 3 4
[ 0 0 0
0 0 0
(R > Ry — 2R1'R3 - R3+Ry)
p(A) =1 (Option:1)
ay,b _ ,m .c.d _ _|m b
19.0f x%y” =e™, xy* =e", A= T

a m
=| | 3= |Ccl Z|, eTesflev X LopmiLh

Yy &@&r w@Liyser wpenpGuw

(1)e(i_i),e(i_j) (2)log( )log( )

A A
(3)log( ) log( ) (4)e(A3) (Az)
Sol:a logx + b logy =m
clogx +dlogy =n
By Cramer’s rule,
m b A (A )
_In dl _S1 (&
logx—|a b| ~ a4, X =e\ls
c d
() i
Y,y = e'\ss (Option:4)

20. Oeraimaustaupmier sievas | Tenausar
2 GRIGH LOWITGSTED 6T

(Vew #0887 oyesfluier GsiLiLy oewf
08115 QhEGL.(i)em el L
enfluflesr CagriLy ewfl epemev @il r
gyeafiwuns @Qws@d. (ii)A erarug N
aflens o LW Gy F&HT 2yewll wpmip A
aaug R0 Heoosuilad el adj(14) =
Atadj(A)(iv)A(adjA) = (adjA)A = |All

(2)(ii) opmio (iii)

(4)(0).(i1) b (iv)
(Option:4)
21. p(4) = p(A|B) 6Teall6L AX=B ¢T6tTm CrpIfiw
gLoerUm(h e C&m@LIL
(1) eGhsmweamLWE LONID @CF @@
&6y QuDN(HESLD(262 (HMISEMLOEEDL LIS
(3) @mhsSmLaMLILS HMID
eTevaT6OIMM &176Y &6 QUHMI(HSGLD.

(1)(0) @b

@)iii) oppiwo (iv)

4) e@rsmwwnng (Option:2)
22.1f 0 < 8 < m and the system of
Equations
x + (sin@)y — (cosB)z = 0,
(cosO)x—y+2z=0,
(sin)x+y—2z=0
has a non-trivial solution then 6 is

2T 3T 5m T
MmZE @ @ @
1 sin@ —cos0
Sol:lcos8 —1 1 =0
sinf 1 -1
sin?0 = cos?0 = 0 = % (Option:4)

23.The augmented matrix of the system
of linear equations is
1 2 7 3
[0 1 4 6
0 0 =7 u+5
infinitely many solutions if
Mx=7,u#=5 (@2)x=-7,u=5
B)»#7,u#-5 @)>x=7,u=-5
Sol:
sTesuiewIHm Fije &6 QUDMIBSSLD,
p(A) = p(A,B) #3

. The system has

x=7,u=-5 (Option:4)
2 -1 1
24.A=|-1 2 —1| wsous
1 -1 2
3 1 -1
4B|1 3 x| wpmpus A a1 Gphwmm
-1 1 3
B eaafled X &1 @iy
(1)2 (2)4 (33 (40
2 -1 1 3 1 -1
Sol:[—l 2 —1]&[1 3 x]:>
1 -1 2 -1 1 3
a;3=0
_Tz—f+——0=>x—1 (Option:4)
3 -3 4
25.4=|2 -3 4] sranes adj(adjA) eir
0 -1 1
@iy
3 -3 4 6 —6 8
M2 -3 4-] (2)[4 -6 8]
0 -1 1 0 =2 2
-3 3 —4 3 -3 4
@B)|-2 3 -4 (4)[0 —1 1]
0 1 -1 2 =3 4
adj(adjA) = |A|"2A4 = |A]372A

adj(adjA) = |A|A = 1A = A(Option:1)
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